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Tilted model :

log ( § §-0.645 +0.0136 Gi

exp/ +0.8411s
,

+ 0.294952g.

+ Bi]
exp

exp / 0.0136)
= 1.014 → For each situation

,

the estimated odds of supporting legalised abortion
for a female are about 1.4% higher than a

male with the

sarrerenddnelfect.ua/weexp(0.2949 ) = 1.343 → For a giver subject
of either

gender , the estimated odds oe Supposing abortion
in sin 2 are 34% higher than in Sit. 3 .



t↳il : let µij
= PL%j=1 )

F-Hed model :

logit (Ñij) = -0.1253 +0.00349 Gi + 0.1493 Siij
+ 0<0520 Szij

Cork ( Vij , Yik) = 0.817

j -4k

exp ( 0.0520) = 1,053 → The estimated odds

of supporting legalized abortion in Sihratih 2

are 5.3% higher than Situation 3
,
holding

gender fixed .

→ Population- averaged effete are much smaller

than the subject-specific effects due to

① Large heterogeneity across individuals
£b=9 -338

② Strong positive correlation between the

§ responses within an individual . (0.8/7)


